Time : 3 Hours Marks : 200
Instructions :

(1)

(ii)

Each question carries one mark.
(28 (B 28 -y od.

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS 3W)S (D8 (DB adg &S o3 es® DOODI DITEIBNB I EX &I
20T @03 1, 2, 3 BE 4 TS ad S OMR 36708 HED0S® (D918 Do 040Dd
Sowg do D8l /e wvd arowod D) GHTrHoD JoDHT.

1. What least number must be added to 2000 to get a number exactly divisible by 19 ?
2000 Howgs D ©d DIy Sopgdo EODHST Hwoy Dowg 19 TJE JFjyhdom
A oS 8od0?
(1) 14 2) 5 3) 1 4) 3

2. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take m = 22/7)
a8 wg(s® HE 60 200.22, 35 %00.Q0 08050 22 wo.doen &) 5&265633@5 S Sy
BASrgoE s 0, 7 200.00 JPgROHD Ho0 s 4 200.000 Qéjé’s S8y BASgHdNS
PrFSER) EFge Dowg (T = 22/79d 80808 )
(1) 75 (2) 150 (3) 300 (4) 400

3. Find the greatest of the following numbers
& (80O 2609_35@@5% ©8 G Doy EIA"K0H2

V53, V745, V9 -7, J11-+9

(D J5-43 2) J7-+5 (3) Ji1-+9 @ Jo-7

4. Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds

respectively. How many times they toll together in one hour excluding the one at the start ?

5 Koo w30 (Bordfcdo Joodsen Do, &3 Joben DEdL 6, 5, 7, 10 H0605»
12 :<o§o§§ é"’ézriﬁ’ﬁ (Bordodo. BndEIr0  (BrAdo B§Zr:o::%a§)ow° %08, a¥ Kok
HH00%006° e @9(‘5; AV T Yo LD (B ?

(1) 7 2) 8 3) 9 4) 10




In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

Jee, ?5@350@ EONS 40 duY (FLo0s® A& 5%. I8 o 10% oThgh 208°d)
ff)%‘éo@ s DFHrI8 ZorwoW, Foddodd I8 Dodrmo Dedsh)

1 1 2 1
M 33 @ 33 (3) 25 (4) 65

The number of integers which are not perfect squares between 16 and 177 is
167 %0050 177 Sogfg B0Urg HSsmer 50 Grgrosto Howg
(1) 32 (2) 33 (3) 34 (4) 28

The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600

§0d Dy D JoodH 10% S°Hpd Tody DoddyoreH 75L§2§<§ D00 I8
Eécc%@ DG PSo S 631, e Jogo Dy

(1) 8. 63,000 (2) &= 63,100  (3) &> 63,500  (4) &x. 63,600

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2% years (4) 3 years

wdor §r. 80,000/- o Jreo8 10% 1:5L§5(§ Ten& & 16,800 :éé $T)eo ¥
rgoHS’ GoDNT © wdwd rgoHNS’ oS DO

(1) 12 dod&yoren (2) 2 Doddyoren (3) 2V2 DodEyorew (4) 3 DodEyored

A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is

a8 Hg 8 dom. 50,0008 8% Jrgrde Eécgg% 2 Dodgyorod Srmomr ywr)dy 00050
$o6° 8. 50,00008 ©T Teos Feodd IEIGE 2 vodyored aw)d. ToBY)
$SH7E w88 80N $T) Iwzod® Fo

(1) 300 (2) 320 (3) 360 (4) 380




10. Match the following

A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(1) 16%% (a) 12%
(i) 20% (b) 6
(i) 8% (c) 5

Bod A0 =BDHIWos

§0d Pyl g éccf’;aé ORYHIEDI0. @ Jugo TEoR wdws

é% FE0 Sodg o éospg
(1) 16%% (a) 12%
(i) 20% (b) 6
(ii1) 8% (c) 5

(1) (i) (i)
(@ (b) (c)
2  (© (b) (a)
3 (@ (c) (b)
“ (O (c) (a)

11.

A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)

a8 wrgod 10% H6¢ $GE Seres 80308, $575 8% I8 Swo o, ol
g0g&, wgoéoéo 88 80890 2639 aéc(%, 8. 40,00,000 = 10 % é%@s 253?) BndosH
2 T Bodod HIrGEH ey Howrd Bod. HIrE 8HI) HeFod?
w&AD Eécé Ten& (oo Srrohos®)

(1) 100 (2) 90 (3) 200 (4) 180

12.

The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
o 162/3% THps 3 Dosdyored §od 0y = BESS 8. 12,700 ©02056.
o3 @"’éoog/za, ®08 éc{% Ten&®, ©08 DHBrIE JFoedem zéc%

(1) 8. 9,600 (2) $». 10,800  (3) ». 12,000  (4) S». 10,200




13.

The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

0.8 3ndo P 2 8% &6% Tens® o¥ D0HEYoD8 HDYD zlS@éée 8. 600. ©T Bnso
P % «3 T&ns& 2 Yooéécbc"@eﬁ% 2532) x:SLézéé

(1) . 1,248 (2) 8. 1,428 (3) . 1,644 (4) &x. 1,648

14.

The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it

will be 5 : 4. The sum of their present ages is

3 foozéégdl’m Bgo ordo, Ao S5k QXJQ@ 4 . 3, Bodo YoozééQU"@ SBoares
©d 5 4 onHod. 0 (DWE oo Jwdo

(1 41 (2) 43 (3) 45 (4) 48

15.

Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.

The ratio of milk and water in the fourth container is

Qardy r(Eo PIVOIrre AR 3 1 4 1 S & (godd Jod HOB» Q8
W(FH008° Jords. & F(EoS'A oo, V8 JnySeo v 4 1, 3 11 L0
502, 8 Hrdh FBOSTD WFETFD Torld FES® T, ol FSSTD e
$0d50 A8 L8

(1) 4:1 (2) 151 : 48 (3) 157 :53 4) 5:3

16.

If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the

cube of the middle number is

Hords bopge Przre Ingo 1728 wThgbiem &Sy Dopgo D)8 3 : 45 wond
éocﬁg {oong [SSSEEPRERSRISEVES

(1) 216 () 512 (3) 256 4) 128




17.

The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is

(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680

a8 argard <oo<o B0y Dgs Dwo arfom PIom, rfomr AAWrAoNd Jdogs
Fordyde & Srrdr Gomod. o¥ Jot 540 FBordy IITrmIE HDYS Deo
3. 1,800. 558 Sod® 620 BarAE AVWrrIE SIS e‘i)go oo, 2,040. 28 Sos®
500 G3ar&y IV TWTrAOWVIR K 539 3)65355 Do

(1) &-. 1,560 (2) 8. 1,600 (3) &r. 1,620 (4) &~. 1,680

18.

6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?

6 Moo ‘533@"’@;50@ ¥ AE% 10 erod® o od. D038 TEow 31260650 &)
DAy wwwdod 3 fdods 5 fwod® §é3c5°§)§ Q0od8y sPard?

(1) 36 2) 18 (3) 20 (4) 16

19.

There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)

uf S5K8S 100 Ho08 Dmgdow eI 8. wrend Dopg wrdfeo Dowg 08 10
A8 D, wroad DAk S 50 8o S358S* Qorgdooodd diwy Sy 45.5 8.
rO8o DAk SN (B (Todh)

(1) 40 (2) 45 3) 50 4) 52

20.

In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?

I.  The captain is eleven years older than the youngest player.

II. The average age of 10 players, other than the captain is 27.3 years.

Choose the correct answer

(1) I alone gives the answer but not II (2) 1II alone gives the answer but not |
(3) I & II both are required for the answer (4) Iand II both together can not give the answer
11 So0d o &3%)068, 11 %008 e:sc‘brv@gf@ DGy HO3000 28 Doddyoren. w FPB0HE
Sosowoe?

L 2680 08 05) $000 Ho somrd 08 ohHd 11 Soddyores 4.

II. 8858, NADS D& Hood @cbrmgfe) Dfén Do 27.3 DodEyoren.

2T DVIrErdo JoweEod

(D T8 & 5T DHrerdo adgod, Masgdy (2) a8 T 530 ddrardo adod, Iangd
B) &I Bodr HIrEarI8 wdHIHo (4) LIl Bodr 020, 257580 adg8H)




21.

A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is

2.8 (Hogrodirdd Hitd wdarorod® 510 H08 $005» WADS dIred® 240 Hr08
Do&B e DI 8. A EH0S’ ch‘éenﬁos 30 doren KOAS Jos® ¥ &8 (focreddras
263?) DodE 0o Dordd

(1) 250 (2) 276 (3) 280 (4) 285

22,

Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II. Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) I alone gives the answer

(3) I & II do not give the answer (4) I & II together give the answer

& (80b TGO WSH08

Sagegbo @ﬁgagﬁo@ A, B, C o&®, 51’585 A3 ERTSIeS ¥ B 0% é e—se;fscgo@ dowg

L3 g3y difens (58 8%a> 20 %508 oygdod gowdrgg B 0®.

. A3 ao00drgg Bokg ¢ wggdhe Dopg BT Johg B wigdhogod 2, C3
Badog 3 @z;fggo@ 08 1 03552;26. ‘

(1) T dor@3 ddrgrdo adod (2) II 3rE ddrgrdo 8000

(3) I mose I, Todr Hdrgrdo aés@:@ (4) Ixosell, Bodr $0D DLrerdo aarow

23.

Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.

Reason (R) : The average of the first 20 natural numbers is 10.5.

(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

DB B2 (A) @1 20 Dopge (dHw) Doodd 0d) wond, TEST Kogom 19 &

fooepg@o €G0S WY.

s*deo (R) Do Bdd 20 JTre Dowgo (D) Dordd 10.5.

(1) (A) 200050 (R) Bodor sr8dSom $TIB5°8 (A) 8 (R) 9B 8w

(2) (A) %0050 (R) Bodkr ar@ddomr HTIB 520 (A) 8 (R) $3Td D8 5°%

(3) (A) B8 522 (R) D05

(4) (A) H05°& 522 (R) HTIT

24.

An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?

28 308 BT I 208 9T (DS VodE ¥o VIE 5% Dodiwrd. & 08
aH)8 o3 JoH Er. 3000 o wond, Tok vosE e SHhard ©B (Crardhed)
Do Godwod?

(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

6



25.

A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000  (4) Rs. 15,000

a8 Hg & MhorR) H000sn M(ED A 8. 30,0008 e . & (07 e 20 %
ocgrR8, HER) (f}b 10% dar8 @578, DI wdd Bwdo NS 2% o
dgrdo. Mo b

(1) . 9,000 (2) . 10,000 (3) $». 12,000  (4) . 15,000

26.

On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer

gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is
(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

af HH, SBr6TSas 10%. &°% Togr08 15%. Dyl amgrdd 25% worglo
S00. 8 IV Wed 8 doo. 1,265 Yons, o H5rd PB)

(1) . 800 (2) . 850 (3) . 900 (4) &>. 950

27.

The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Tody Dowgo Dogg B0 1660. 2.8 Qopg W) 7.5%, 8% Dowg Ty 12.5%8E
DIrIFE o Tods Dopgen

(1) 2490, 4150 (2) 2510, 4170  (3) 2600, 4260  (4) 2700, 4360

28.

In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea

and if there are 40 persons who drink both then the number of people in the group is

ug Dot ésé_g@eﬁ's 72% %008 5%, 44% %008 & (o do. ®odoes® (o
$g8 5Pmd, Erd (Therd, Todr (@7 H3%He0 40 $00 wond & dDHrEros®
28
(1) 250 (2) 200 (3) 300 (4) 450

L

) éowg




29. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other

he loses 15%. Then, the shopkeeper’s gain or loss is

(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

28 Sosteamrdady a;é"’z)_éa_ TV . 20,000 5”530)326 Tocko TVeo @S)aés"c‘éo. w8 TV
@éogééwza &8 15% orgfdn H0asw Todd TV = «Ed8 15% SQd0 HI6.
WD YR, © S5 ordINE dWID ordw GH SESRN

(1) ooesdn 2.25% 2) orgsm 4%  (3) S0 4%  (4) Spdw 2.25%

30.

A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation

of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

uf &% Igr0 H00& ¥ Sosteardid (DESE Jo v 16,000 &3y 8 TV
HEDe Tody EHow) §8o 20% & SHhard 10% o¢® o . 0808 & TV Sarer
TOo@A8 8. 480 o) wondd. w8k & TVI &r. 15,0008 @Do&@, wdd8 HDND
gy 3B D

(1) 30 ) 25 (3) 20 4) 15

31.

A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price

of the article should be (in rupees)

2.8 Soseearrdachd a8 Sl . 1,4708 @:95)3&3 DY ogf b0, ¥ $295)d0 8. 1,0508
OB HDYE HHDNE HOTonIED HHodoT k. wEI8 & HWDH W EdNS® 30 %
P H» TEre0d, @ HDIHE GoddoDD ©H08Y ¢4 (Brronos®)

(1) 1638 (2) 1600 (3) 1578 4) 1532




32. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A %8050 Beoo 38000 8. 16,000, 8. 12,0000 Zoéw &8 o8 argardo (@rdodowedo.
3 Jvo $SHard A, . 5,000 326%2)_ @i’oé"’s"gféo; B zos® &ov. 5,00000 &0 &
DYrdo. 2088 3 Joo $Hord C, & 21,0000 gy & srgardod® Toords. af
dodENFo S 08 Jwdo Ir. 26,400/-o orzio JWN08.

(Bod (HIW3d0er HOBO0B0

(a) o) A, B, Coo 7:9:6 808" H0uE 508k

(b) (B8 orgfo - C 8 wrefo) = oo 3,600/-

(c) A8 &r. 16,000/- oo

DOODS Ddrerdo

(1) (a), (b) @ H00NID (2) (b), (c) @ D0TNID

3) (@), (c) © HOTHIH ) (), (b), (c) © ®d) BOTHII

33. A s twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &) A TEop éﬂéoggoés DY BoSaedy LS80 36%565" OV ¥ DA
18 &Paros® Hro Jahdod. A 28y d & DI Yo Toddo HHI0%0

(1) 27 &%een (2) 54 &*een (3) 36 &%een (4) 45 SPeeen




34.

A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B o 28 $d 8. 6,000% Hro Tohweds O PS80, B DAV A =2E)do 6
SParods®dr, B af)d 8 Sfwod®l §ro TWohded. C 3550508 J8 & DI 3
SPeros® Hro Tad. PHnyds® C By rio

(1) &. 3,000 (2) 8. 2,250 (3) &x. 750 4) &x. 1,500

35.

A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Todo aio a8 50 4%¢ (836 wod smron. sod*d JdE 10 LIS Do
Hoedd 3.2 S8 10 é.,égf@% ©8 4.68 »0A0LH. wh Jro% Bwdo DM

303 BASrged Dgooa"fg MADS 30 mg@“‘ HSafoe HorHd Qo¥ Gored?
(1) 625 2) 65 3) 7.0 4) 75

36.

A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000
A, B %0050 C oo fg“ooaoé's ad) e& o af o 8. 6,00,000 Bodo SPIDM
adiod. A cgvoooeS”SéO a&gh8 adyd Iwdo B cg”ooaé’séD a&gh8 ad)S Booed8 2885 8
Téo Hodosw B gﬂowoé)si) @ﬁgﬂg aw)d Bwdo C gﬂowé'sfb ﬁﬁsgﬂg RWNS Do
TBodo T, A gﬁ’oooé% 50 %008, B cg"’ooaé‘g 75 %208, C ?ooo@s 100 $008 &&gHoe0®
A (gﬂ’oooé’s &d) ¥ fi—sﬁsgﬁé CIARPS D Do ?

(1) &». 1,500 (2) . 3,000 (3) . 4,500 (4) &>. 6,000

10



37.

While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 7 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 S0y, (HBrB0T (EH00sS® a¥ $g8 a8 Hob 40 AWTFrew HEVS s,

5
@& DAL SrIos® 7 S0dy Erdo (HArBomrdd Hdodowrdy. ¥ ISEE 380

(1) 9 8d/Ko (2) 6 8%/oe  (3) 10 8d/oe  (4) 8 &do/How

38.

1
A cyclist reaches a certain place in 6 hours. If he reduces his speed by gth, he goes 5 km

less in the same time. His speed (in km/hour)

af g8 N85 (DASrBoD, o Liaawé’bl 6 Sovods® Tled. o Hg8 @8 3(?"?0;
o8& Sosd é@oﬁo&vo@, @B HI00%00S® wEds 5 &8 é§ozré @Doﬁweﬁajéo. s SKo
(8o/K o0& &)

1 2 4l 3 4l 4 3§
(1 5 @) 4¢ () 45 “4) 3¢

39.

Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Tods BEoY 538TE 04S° 2T DHo& (DoSrddgmryon. 2878 Tew FEH 100
DNOY G0l ©d 28I HGES 10 DEIS @8, w8 &) Teoo TwE) Do
(Hobd 85 uds®

(1) 84 Q) 72 3) 36 4) 32

40.

The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A 50050 B R0 g dogg drdo 390 8.0, a8 Too wad A $¢ 10 AMS 65 8.95/K0
SH08  0HeoBO WA B FH (dXrso0s. I8 Teo whd B I 11 AMDH
35 8o/o D08 CHeoTBO VAD A Y (DATB000. 9 rHT vHodkho

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM

11



41.

The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is

u 8w KAXBrSosd Hobe L00%w ddaro Eéoa@gfo@ w8 DS Tost, ég@éé
84S IJ) FYo soerow

(1) 20 (2) 22 3) 24 (4) 44

42.

A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?

u¥ T8 H&Srdo (D8 Srooth JdarodH 5 DEDo wffomr JHEW0s. I
G$050 8 HowodH VOTH ©T 8w @ 9 doveodH ©b Wre Bho Sod?

(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

43.

The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
%@OOQS“SD V50 Gl wHTIS
(1) &loardo 2) ogado (3) #HE>do (4) $Jd=ar8o0

44.

X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

a8 gardod® X $0050 Yoo 2 13 Q088" e & wgrdh. Indo ovdod® 10 %,
a8 PEFTOH JorFomr W) SHharE X8 Som. 900 orgo HDNod. ey YE SIS
oo

(1) &. 1,600 (2) &. 2,500 (3) &r. 2,250 (4) . 1,350

45.

Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600
SRISSRNICICURN I SN wﬁ@séogoé”s Swgo & 60,000 FHay o o e & DY
HDYS o) DHrSomr DoHhHTowo HoBH FTgH Do DE & Dl oS
DodEyordE 10% Eécé 23wy, d°gardo I8DoVI0BEH Jo&H Ir. 150 @bas’oc_ogéaégoﬁ"
D080 H&BNHTE. TgH o0 & oo o0 @ST Do ed)owd, TgFros’
JVNS Budo VodENE orgfo Jod?

(1) . 10,800 (2) . 8,400 (3) . 14,200 (4) . 12,600
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46. In a Geometrical figure if radius is 7 units and height is 6 units, match the following

(assuming suitable units and take w = 22/7).

(a) Area of the circle
(b) Volume of the cone
(c) Volume of the cylinder

(d) Curved surface area of the cylinder

(i) 264
(i) 924
(iii) 154
(iv) 308

gNBT%H Dered® ogrdo T ordde, % 6 drdey ol & (808 &I
2EHET0q (DTS Bardww 8%8%0s, T =22/7 ©d 8%08%04).

(a) g JTogodw (1) 264
(b)) %0%H DoSHOITd0 (i1) 924
(€) $rHdn DHodDHODreaHn (iii) 154
() rdo BESo Brogo (iv) 308

(a) (b) (c) (d)
I G G (@1v) (i)
(2) @) @Gv) (i) (i)
()  Gv) @) (i) (i)
4 (i) (i) (iv) (i)

47. Match the following
List—I List—II
(a) Cuboid (i) Square
(b) Cube (ii) Circle
(c) Sphere (i1i) Triangle
(d) Cone (iv) Rectangle
Bod &8 =8 Tahod
de—I erde—II

(a) &g Hodo (i) Ws8do
(b) Ho%o (i) $yso
(c) A*Fdw (1i1) (&aoezsdn
(d) %o0%d (iv) &8 (Do

(a) (b) (c) (d)
o  aGv ) G
2 Gy @ (i) (i)
G @ @ G ()
4 G @ @ ()
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48.

If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the

original rectangle in cm is

2 OJSS(do Ty FEHS 4 cm ghow) Vdooyde 3 cm 20DE bdgé’éé
BEE(D BPogo, BEIHED FTegos JIrdHHH0d. ePds HIISEDY Dok
Fod Do.dod®

(1) 46 (2) 48 (3) 50 4) 52

49.

Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of

the metal, what was the weight of the original plate in grams ?

oPH0 wf SIrR) TEHI Tods Do grmreon E80owrd. 80A a8 v ) DS
PO &) W) dnE oomr EZ0owrdd. (D8 VI SnE) W) SR 20 (7. «Eé
$S Bogo 7 TH gy e ¢0W, wdd EB00VS e TEH  &HY (M.od® Jod?

(1) 140 (2) 160 (3) 210 (4) 240

50.

Two metallic cones of heights 4.1 cm and 4.3 cm and each radius of base radius as

2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.25 $28050 4.3 %00.90 J&oo, 2.5 &) a8 2.1 =200.2 qb’wwgcﬁfgo §OH &)
TBods 'Y FoHrHod L0A0D o AFom HOTEh. © FFY Fgdin oo’

(1) 42 (2) 4.5 (3) 4.8 4) 5
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51. Consider the following statements
(a) Any two similar figures are equal
(b) Two circles with radii 4 cm and 5 cms are similar
(¢) A square and a rhombus are similar
(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms
Which of the above statement/s is/are correct ?
(1) (a) and (c) (2) (b) and (d)
(3) (a), (b) and (c) (4) (a) only
S (808 (DdWTrod H0RO0E0E
(a)  Tody DD DL BI® VIFIOM G0LTON
(b) 4 oo Fegrgan Ho0dkn 5 200.00 argrdan o Tods HHEmos dErared
(€) HSF(DHor, D FHadoyzHn Do
(d) 3 oo udw Ko ééoa?%ro (Bghzdn, 4 0o ghadn o dDlowrdee
(820208 D HH®
D (DIVT0S DO/AD DTIL?
(1) (a) 200050 (c) (2) (b) H00805» (d)
(3) (a), (b) 000520 (c) (4) (a) 28T

52. Match the following

(a) Mahalanobis (1) oo

(b) Srinivasa Ramanujan (i1) First Indian Satellite

(c) Bhaskara (iii)) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

Bod B =SErENod

(a) H0oSTDD (i) o

(b) BJad ordrdomS (i) BdE P8 a0

(€) =98 (iil) dogrg Y 952

(d) edgafe (Iv) 2o@0S FreRES adQergd

(@ (B () @
() Gv) Gy @ (D)
(2) )  Gv) i) ()
() @i G aGv) @)
@ @O G G aGv)
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16 .
(x+16)> * 1f
(i) x#-16, and (i) x> + 32x = 320

53. What is the value of

16

() x # —16, $20050 (ii) x> + 32x = 320 wond m Dol doe?

1 1 1
(1) 36 @) 76 G 350 @ 36

54. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

2 8¢ IHIRPY ITogo 60 ISEH Bordiw. D PED), Ideojody HEHd
6 OSJJ‘;QUQJ D005 2 T3 é@‘é ¥ a8 BSG(DDH0H. WD YPE & BSG(DW)
STogdn (SSEY 5rdeS®)

(1) 4 2) 9 3) 16 (4) 36

55. Consider the following statements
(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon
(¢) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?
(1) (a) and (b) (2) (a) and (c)
(3) (a), (b) and (c) (4) Only (b)
Bod a3 (BIITrod H0300$0d

(a) eso¥ocs® Brdoglds Jod B G0W, Pradd wf BN Qe o DI
GO0

(b) of 3% ©@ D) 6 © (FodH Wg DEgEToS® HE$00
(€) wdrardgode drdgde, Podds Frdd BEE BRI woerd
2% adyd (PITToS DB/ HTIN?

(1) (a) $:605% (b) (2) (a) $5805» (c)

(3) (a), (b) H2805» (c) 4) (b) 25T
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56. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4.4), (2,2) 0050 (0,3)e0 Rgreom &l T0ghe STogo (FE8DH rdys®)
(1) 11 2) 14 3) 22 (4) 30

57. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent

is (in square meters)

a8 DG dwrdo fgrﬁao:“_oa F05HYH D), ws*S0d® &) 8. ng"XDo W)y gk
8 Do, P 208 FoHD) %’go [SSSSEPRIRNE SR Q. Ho8 050 Yg?éo D& 12 Q. Swgo
Ho@oed) D PO ©BDEBTIY Sagd Ty BTego (F.20.08°)

(1) 144 = 2) 116 m 3) 9% =n (4) 64 m
58. The next term of the sequence 1, 3, 4, 8, 15, 27, 1s

1, 3, 4, 8, 15, 27, (D0 Ho@ Dowg

(1 37 (2) 44 3) 50 (4) 55

59. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

EHE wdTjones PSP §H0 af 9D ErE)T)E. o8 Jddo (HELD, Dol
H& (DELD 2P 08, 0B HA (DEYS Fob ob. 38 b8 Boggd ber woo.
Pest 506556”3 GO0 DDB?

(1) o°c3 2) 26 (3) ber (4) Qoo

60. Fill in the blank :
9 Hroobod :
CG:HL::KO:
(1) QV (2) PT (3) RV 4) VT

In each of the Questions 61—66, pick the odd number out (does not match).
61-66 H8& (B oS Lo Somg Hg oo

61. (1) 282 (2) 364 (3) 4168 (4) 6248
62. (1) 1285 (2) 2213 (3) 3074 4) 4172
63. (1) 1339 (2) 2665 (3) 3991 (4) 4223
64. (1) 11 (2) 246 (3) 327 (4) 464
65. (1) 5 2) 12 (3) 25 4) 36

66. (1) 81 (2) 441 (3) 529 (4) 613
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In each of the Questions 67 to 72, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

67 %208 72 $8% fo ($8 (BH)STH0 alyd dopges w ¥R oS AT TSI 0.
(28 (%)% &d) erdR wdoE% JoITIE Foo Eoom alyd T PDyFL Bod
HOTRS ma 98 Yroowod. |

67. 5, 11, 28, 53, , 175, 296.

(1) 89 (2) 123 (3) 126 4) 152
68. 7,6, 11, 13, 15, 20, 19, 27, 23,

(1) 27 (2) 34 (3) 36 4) 37
69. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
70. 21, , 55, 78, 105, 136.

(1) 36 2) 38 (3) 42 4) 45
71. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
72. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

73.

In the Questions 73 to 77, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

73 [008& 7T D8 adyd LK)%J@@S’S wod wfores H0din & 0 08 éozps@o 1 Jo0& 26
DO, wF {0 PN I0HhITIy FEgT o0, (08 BH)S° &) PO, wBoEds 0D TI8
Fordw o ore, adyd rwoi od)Se D008 0TS aI° 28 ProoKod.

If VEDA’s birthday is on 22-5-41, thén RAGA’s birthday is on

VEDA H&s &% 22-5-41 wons, RAGA DES &ez

(1) 17-1-71 (2) 18-11-51 3) 18-1-71 (4) 19-1-61
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74.

If AZEV : FUIJQ, then BYFU :

AZEV : FUIQ eo»$, wodypd BYFU : .
(1) GKTP (2) GTKP (3) GTPK (4) PTKG

75.

If AKBAR : 15, then ANWAR : .
AKBAR : 15 ®o»ns, ©H P& ANWAR : .
(1) 11 (2) 19 3) 17 4) 21

76.

If ICET : 73, then HBDP :
ICET : 73 ®ons, wdyd> HBDP : )
(1) 64 (2) 34 (3) 48 4) 54

77.

If FACT : 54, then TAKE : .
FACT : 54 wons, @Xacycéo TAKE :
(1) 35 (2) 46 (3) 68 4) 82

78.

In questions 78—82.

In a certain code of the word ‘SAINT”’ is coded as 82147 and the word ‘MONKEY’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1)) If no match is found use X

(i11) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

BF)wo 78 08 82 H8s.

a8 §°6S* ‘SAINT’ o3 Hdo 82147 ado, ‘MONKEY’ o3 $&o 364950 mdo §°6

Do 8B (Bod ad)d Lol wgrdomr THER AN Soredh §& (3°0%0s

(i) @ 8633 VEm 0 0B, & 07 D 9 m HrE)od

(i) 2oFO%0 A& SEFE X %o
(iii) BnEE ®0B ‘00 ®onsd o (gﬂzéoeﬁ’s 1 ado0d

(iv) BoodSed o800 DVHO ©oTeo, T 2 528 FT DIrddw wowd Dompgen
wond, JGE woE &L 2m IrdHod

The code for the word INMATES 1is
INMATES o3 %do [SSESEY §°&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578
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79.

The code for the word YESTERDAY is
YESTERDAY o3 %Hdo mgzr §%&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

80.

The code for the word STALKINGS is
STALKINGS o3 $do Vo) §°&
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

81.

The code for the word MONASTERY is
MONASTERY o3 %o [SSEEV S
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

82.

The code for the word ASTEROIDS is
ASTEROIDS o3 $Hdo aeo§zy §%&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8

83.

A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

uE Brerdy 528 70 8/do BHost BNEB (D& TBodo dobeodr 10 8o/Ko 3(?&);“
200808008, & s°5% 360 8.0 Bror)  (DOSredoN w8 Xﬂ’g Dd0a%0

(1) 4 dove 20 Jddoared (2) 4 Kovo 30 Jddareo

(3) 4 Hoveo 40 Jddared (4) 4 Koo 50 Jddareo

84.

AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is

AB 2.8 08 Tp. 2.8 DK A 2008 050e0TO g gdoponr 8 4 0.0 &9,
Eéo@@ HABH § 8z dDIrodSomr 3 o.wd E6D Eéo@@ 8 &g gdopom 2 200.2000
6O, 800 DAY §8= Dddroddom 2 0.0 ¥6O VIS Bo&8 & Snpom
$69 Bd Jooob. SRS :Dd‘bcg DOY IFTogdn (VEEY 20.2008%)

(1) 24 (2) 26 (3) 30 (4) 144
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8s.

A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)

a8 $g8 Simdg 045 40 do. Srdsw SAD, 5 JdDo BH 90° 804 40 o SrIHw
S, b S8 8IS 4042 . BrEHn S %o, $EE (@rE0DoDD Do),
S8 Yo Td DodpHo Hgg Srddw (L.odh)

(1) 0 (2) 60 3) 6042 (4) 8042

86.

A person walks in the given directions as follows

(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)

af $g8 (8308 adyd o%y o S

(i) 8580y 6%S* 60 Qo (i) S S BFS® 80 o (iil) e HEHS BFS® 120 Ao
(iv) 8£0950 add8 &84S 30 Q. H20050 (V) edosddo S50 848® 60 .. ScdoTecdo.
©db I&E (FEoPoDD Do), I8 Hro TS DoddHo Hgg Srdldn (D.0S%)

(1) 30 (2) 50 (3) 60 4) 120

87.

A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

a8 Hg§ Srdoy &35 250 .. L&, @Dpd wEY &¥s® 50 . deborddo.
O PE D&Y &4S® 300 . S d. wE5 JEE (FS0PoDD Do, J&E Hrd
TR DodHo Hgg SrdHn (Mo

(1) 30 (2) 6042 (3) 10042 4) 5042

88.

A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m

Erdons wddopomr wd) Hg8& Erdy aHyn 30 Do I&TE $Emo I
40 .00 I&D 8D DEDE Y 60 .o IE&TE. IESE Do) o0l wETod
Er80S® Gaydo (.08

(1) 50 (2) 60 3) 70 (4) 130
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89.

Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 ©d(EH0S® S*DoDS Dopgde EIoA" I
(1) 35 ) 38 3) 39 4) 40

90.

Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? @3 (00’ SdHhard Ho ééogs&oc%
(1) 96542 (2) 65423 (3) 96543 (4) 65234

Read the following data and answer Questions 91, 92, and 93 :

Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddan Wad 91, 92, 93 (B¥HoH =308

91.

Sngo 35 Hood Dmg%ﬁo@é‘g 16 008 (o, 16 Ho0d D0l yEHw H00dSn 11 Hood
Boory BLoDHT 0T 8. 5 M8 (Pow H0» Sty Todr FSrol, 20¢°
dody Dody yEo Erwe HSTed ©35owa) 8. 5 o Sewoih K)Jﬂtéﬁo YaEIN!
0, 8 Hood Dody yEo a’w’@ﬁéo BEFTOJ @380 8.

Match the following :

List-I List-II
(Choice of Languages) (No. of Students)
(a) Only French and Sanskrit (i) 2
(b) All French, Sanskrit and Telugu (1) 1
(c) Only French and Telugu (ii1) 4
(d) Only Sanskrit and Telugu (iv) 3
Bod TG 2EDILod
eI eIl
(RO AEen) (Dwggoe Sowg)
(a) (oD %0050 Dod) o Ir(EDo i 2
(b) (o, Dodyy¥o HBA» B &92’33‘ (i) 1
(€) (wod Ho0Bn Boads Hr(EDo (iii) 4
(d) %00y )0 Ho0%n Booi Sr(EDo @iv) 3

@ (b () (@
(D @Gi) Gv)y @ (D)
(2) aGi) @ G (@{1v)
() @Gv) i) ) @)
4 @) (@O G Gv)
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92.

Which one of the following statements is not correct ?

(a) 10 students want to study at least two of the three languages

(b) 5 students do not want to study any of the three languages

(c) 4 students want to study all the three languages

(d) 7 students want to study only French

(Bod ad)d (d3STeS® 6 D05E?

(a) 10 Ho0d dargdowo 3 rhes® %o Toso8dar) IS0k 8d
(b) 5 %8 Smg%ﬁo@ Hordy erhes® & Srar IdaredstHdo B
(c) 4 6o ‘Dw"gc;go@o dorddy ey ISPl obTT) 8

(d) 7 $8 Qmegdowd (o Soo(E o F S0 00T 8

(1) (a) (2) (b) (3) (¢ 4 (d

93.

Read the following statements :

(a) 30 students want to study at least one of the three languages

(b) 20 students want to study only one of the three languages

(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is

(1) (a) is correct but (b) and (c) are wrong

(2) (a), (b) and (c) all are correct

(3) (a) and (b) are correct but (c¢) is wrong

(4) (a) and (c) are correct but (b) is wrong

o (DdVorod WLHod

(a) 30 S0 Dmggo@o Lordy rhodst $J%o LIS IO 0LT) 8
(b) 20 %008 Ddargdowo $rQ08S° wE)TAd IPEH ISToI0E 0T N8

(€) =88 Jargdoon Dody yEo HHBH Bwary To&oB S(E o SSrodHotoTe) 8
5653 b B

(1) (a) ¥B8T 522 (b) L0005n (c) Lo

(2) (a), (b) L000sn (c) Loy HTID

(3) (a) %0608 (b) vTIF 572 (€) LO5°&%o

(4) (a) $005» (c) 2T 570 (b) vos°%o
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The number in the figures in Questions 94, 95 follow a pattern. Find the number in
the place marked (?).

Bod adys 94, 95 ($¥ o Sedwed® Sopger o8 EHRSLES” aajow. (?) DES Te $T
Sowg 526956&059.

3113 7158 51|41 ? 189
M. 115 3 | 40 419 5139
(H 9 (2) 8 3) 7 4) 6
418 6|12 12 | 36 72120
95. 112 2] 3 3|4 2] 5
(1) 16 2) 8 (3) 10 4) 2
96. A silver cuboid of dimensions 5.5 cms X 5 cm X 4.2 cms is melted to form circular coins

of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

55cms X 5cm x 4.2 cms Sodon fo awf Tod ég Po°Q) E6Aow 1.75 cms TG00
$00» 4mm  Hoddn o HEsd FBed EBrdH B, wdypd Tod SEro
2008 35rBS TBo Dowg (T =227 od 308%03)

(1) 120 (2) 80 (3) 60 4) 12

97.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

&g S8 5o’ &) w8 Podn BwE) Vo), Pkt 4 5 3&19%@5’5 D).

& POD0 W) Jdeoy P& o) 20 m &) Hoe z%?é‘lﬁs, @ POl W) Wk
Fod D.oSt

(1) 240 (2) 300 (3) 360 (4) 540

98.

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 98, 99 and 100.

Bod aD)d budnod® Sopges 28 EHDFES” aaryow. & BITTEH ¢HTTROD, B oo
98, 99, 100os® (?) IS Ste éﬁb Sowgido §260§’53_oc.%.

1 3 4
3@5 1@3 6-(24)-2
8 8
4
6 3

2
(1) 26 2) 28 (3) 30 4) 32
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99.
41
5
(1 3 (2) 4 (3) 5 4) 6
. 12
5 (12-12
@
1) 2 2 El 3 L 4) 1
() @ 3 3 5 4)
101. Identify the correct statements

(a) Magnetic force does ‘no work’.

(b) Electrostatic charges generate magnetic field.

(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTS DdGewen HBoWod

(a) ©ohI)od oo DITE .

(b) %9 DSgorBidne Hod odhdryod F (Ed» i@ e

() wddharpod © Tpoo DIroLEZod ©0oI 08 T ($d0 868S° wokae.
(d) 2868 wdhdpod F (Sdw J8g8g 0.

(1) (a), () 2 @,(), (@ () (@), (b), (c) (4) (b),(c)

102.

What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic

& (300 @ F°BY Fopd), ($HgEnos” Ho Erods (H8DoDOT wdTHE Jevden EWE)I
(DTN B0S® &S ?

(1) &g (2) &9 d» (3) o5& (4) wddhr)od
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103. Identify the correct statements

(a)
(b)

(©)

(d)
(1)

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse

mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse

mechanical waves.

Electromagnetic waves are transverse waves.
(a), (b) only

DTS AdGeen HdoWod

(2) (a),(b),(c)only (3) (a),(d)only

(4) (a)only

(a) &g SFomrer HBBH ©BFID SFomre @éo§g§ Fro@8 Somren.

(b) $30 SJomren &9260@55)5 FBro(@8 Edomor B0 JBgEaiodyod ESomed
88gE dbro(@F gJomon.

() &30 SFomen &9260@5535 FBro(8F SSomer HHBBH ©8 FgJ dJomes 88gE
oSro (88 EJomren.

(d) DeSogdcshdryod ESomes 8855 ESomen.

(1) (a), (b) S (& (2) (a), (b), () &rES  (3) (a), () SrES  (4) (a) S-(ED

104. Match the following :
List-1 List-I11

(a) Mercury thermometer (i) —200 °C to 1600 °C

(b) Platinum Resistance thermometer (i1) —200 °C to 500 °C

(¢) Thermocouple thermometer (ii1) =200 °C to 1200 °C

(d) Constant Volume Hydrogen gas thermometer (iv) =30 °C to 350 °C

(Bod 8 2SN N0& :

(a)
(b)
(c)
(d)

(1)
2)
)
4)

D1

T8, 88 STHE SrHED
EVACRENbY DS E Gar(ig Srngldw
ah Ooiyse SPHS BrHEs®
PS8 HISHODITe o (Eel TN
el (g gl

@ & (© (@
@ G () (i)
(i) (i) @Gv) @)
(i) (Gv) () @)
(v) GiD) () (i)

-1
(1) —200°C %00& 1600 °C $8%

(i) — 200 °C %508 500 °C $5%
(i) — 200 °C %508 1200 °C $5%
(iv) — 30 °C %508 350 °C $5%
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105. Metal ion present in Vitamin B, is
DeWS B, Ho S @dirs
(1) Fe* (2) Cr* (3) Co* (4) Mg*

106. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

(55 woSdomr @) DB 2dVHPo DD wd) (88820 HBTos® gy ook
JB PHEE 5°80

(1) 58S 2) $r® (3) 3E*=S w3 )bw (4) TS

107. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod o8S® ;OTHHE Fh A2

(1) BgB& (2) 065 (3) Bors-6.6 (4) ®OOS

108. Identify the statements from the following which are nof correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(¢c) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod TBS® HOTHI JHBmen 50 TG hHdowod.

(a) o8 wdoo a¥ ddrodRE

(b) 58RI a8 Brod WrdE

(€) HETE a8 dBro8(E DSBS

(d) 9D a8 (@ro8gBwb

(1) (a), (b), (d) (2) (a),(c), (d) (3) (a), (b), () 4) (b), (c), (d)
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109. Read the following statements

(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.
(¢) Programmed cell death is known as ‘apoptosis’.

(1) (a)and (b) are correct (2) (b) and (c) are correct
(3) Only (a) correct (4) All (a), (b), (c) are correct

& (800 (DIHVTrod wFgabhdo Bohod

(a) PHEros® HoFRSHTg 8T ([E@Ee T, adY Frrod T Tgoe FToSEH0

Todosrow
(b) HIdoB/r=E DNA S 05 DNA ©d $re wowrd
(c) Berds Fomr e WIFS@) ‘oPDSVD woerdd
(1) (a) £005 (b) HOTHHY (2) (b) %0050 (c) HOTBH

3) (a) $omE BOTHHE @) (a), (b), (c) &dy BoTHID

110. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood

(4) Adrenal medullary hormones increase the B.P. and heart beat

DA(@HOH Do 0hoD G (8od (DITVTrol @ggaddo TR DO A #0000
(1) JABIS (Hod DD derardy IE°ES J6°Q00

(2) &rderddo So QoD SENCRTSS

(3) dEido dg o ‘CO’ H0Hrmo 20A O, Hodrmo SHodo

(4) ABES $H3H38°yBowr 8 DAYy, H0T FQET Ty woderon
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111. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats

(3) Storage of proteins (4) Vasodilation

Py Sero DY Qe ?

(1) 158 Jgscodn Ddaéozﬁoéa (2) 8Hge Aoy

(3) (DB dog (4) >¥FBTA

112. Which one of the following is not correctly matched ?

(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra

(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia

S5 (300 2B0S® B HOTHHO 57

(1) De0d B, — 2030 (2) doNS B, — Do

(3) DoWS B, — «8d Hodhosdo (4) doDS B, — 20 2050 6_§°§ér°éé§

113. Read the following statements

(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.

(c) Western Himalayas are biodiversity ‘hotspots’.

(1) (a) is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b) and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

& (800 (DHVTrol @Pgahdo Enfonelele)

(2) o800’ D06 BeE )& (S0,) H0d» JE=S FeF & (NO,) mds™
V8 weuHods® $Eg BohbIDd SN ég"@o’ 8o on.

(b) w&g08 Srdom @oB derddn P 830506

(c) $B)% Wrdrodires LHTASE HEXE oo

(1) (a) 2003038 522 (b) H00dBw (€) HDODIV %)

(2) (a) H50Bn (€) HD0IX 57 (b) VOCPIL &

(3) (b) Ho00s» (€) V0PIV 570 (a) LOPIL 57

4) (a), (b), (¢ @E’bl ISTeRCEIEY
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114.

Match the following
List-I

List-11

(a) Methane (i) Knock-knee syndrome
(b) Phosphates (i) Global warming

(c) Freons (iii)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (800 & 2BDTL0d

-1 D11
(a) DTS (i) ©°5-0 o1& &>
(b) aoySeo (i) 6° & =030k
(c) (proen (ii1) Yodfoog@@“s S00228 (bloom) Ddt)éeao
(d) §*BEen (iv) &8 2o&°&
(V) &S & fodo

The correct answer is
HOONS ddrgrdo

@@ ® (© (@
(D @v) G (v) (D)
(2) @Gy @G (v) o @)
(3) G) @) (v) (@)
@ @ @ ) @

115. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located

(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan

(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0&5rE, Lrard O DoV PO wgfcirdargod EOAND) orargo DOODD (FH

(1) D558, w0, Hodtorny (2) EorywE, G HTE, ocads
3) 263655636?%, HFPorR 9, SNFdd (4) Sor &¥, »d*yo, 2;63(}55@3755

116. An irregular occurring and complex series of climate change is called
(1) EINino (2) Hurricane (3) Tornadoes
DOER DY, ©V0 S FrErdden Hrdyodn &8 (800 JFomr DeoB
1) 26 28 2) 06%5 (3) &°6y8° (4) woy LEs5

(4) Low pressure
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117. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is
(1) (a)and (c) (2) (b)only (3) (c)only (4) (a) and (d)
& (300 Tgos® DB/ SDHy?
() B&E HoIBE (D5 stodw — 1951-1956
(b) Hordd DoWddY (DerPse sredo — 1966-1971
() ©8% DoddY (Der®s® stodw — 1980-1985
(d) 585 DoIHE (Derds stodw — 2002-2007
DTS Ddrrddo
(1) (a) %000 (c) 2) (b) HmE (3) (o) drEa (4) (a) %000 (d)

118. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
©0¥ 0w FIrel (D5 WHS oW Q DTS FoHHETEH

(lj Bold @der (2) g9 @de

3) %éo%c% Ak (4) o330 wdsoro

119. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal

PSS TH0S® ety TGO H0&0TBR0S® BIHD (BooS® (AhHD odk) HodoT T°ar9g O
Hodokod

(1) eSSHTF, Dowrd L0ds® Eéo@ﬁg@aﬁ%

(2) sSSDT5, K)oc}ﬁg@)?ﬁ% H0d5» DI Bord
(3) Doerd, sSIHTI L0H Bwomrn

(4) $6g(HTF, Dowrdd HodX» DB PeBomrS
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120. Which of the following Articles of the Constitution can not be suspended during the period of

National Emergency ?

(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15

&% ©EgHVY DOVS DHoWD see0d? @wgoﬁoé%éﬁ ) ©OESH D)ok Fohwd8
QB '

(1) ©g8d 32 (2) »98d 21 (3) «98d 19 (4) ©98d 15
121. Match the following
List—I List—II
(a) Rajoliband Diversion Scheme (i) Karimnagar
(b) Sriram Sagar Dam (ii) Adilabad
(c) Lower Manair Dam (iii) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
T RSTeENGEVRS
eI eIl
(a) oo o Ho9yo dLo (i) %80%48
(b) $oro 308 @& (il) wooers
(c) &°0%6 $r3I6 @0 (i) Ho&> 5SKE
(d) £Bo d=z0°g0sd (1v) Qedrerd

(a) (b) (c) (d)
(M © (i) (i) (v)
2 @ Gy @ (i)
G aGv @) (D) (i)
4 @) Gy () (1)

122.

Consider the following

(i) Right to Education Act makes education a Fundamental Right

(i) Right to Education Act was passed in the year 2009

(iii) Right to Education Act assured free and compulsory education to the children between
years 6-14

Which of the statements given above is/are correct ?

(1) (i) and (ii) (2) (ii) and (iii) (3) (i) and (iii) (4) (1), (ii) and (iii)

(Bod arsrgon HB3O0BoHH

() Qdarg TH) Who Sg (FPNE T (DESoV0H

(i) Qarg . o 2009 Yoozéégééoaé* EEvotaYoloulos)

(iii) 6-14 JodEyoros® &Y DYLoLds &S H005w AEyod &g amrgod Aorg
&) BHo (DEGo0d

D rged® 26/20 D3TH

(1) (1) S0003n (ii) (2) (i) 00032 (iii)

(3) (i) X003 (iii) (4) (1), (i) 00032 (iii)
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123. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) Syears (3) 6years (4) 7years
DTRAB0L Pr8E FBHE0 §EH SBgrrty WokodE K00k r8ETH0S® ) DoHEYEHDe
AXVOW Go%IBl.
(1) 3 JodEyorew (2) 5 DodEyoren (3) 6 Doddyoren (4) T DodEyoren

124. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh  : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

‘B DY V088 F§oWwdH X 07090 w(fdD Wi DEEoD (HTIDFos. T (Hed

oggo De3?

(1) &g (HTF  : ©d Dood §§odes . 200 59l Serowood

(2) Dogg ®3BF 1 ek Do oo, BStorRd) DErEYEo

3) O'°&§'°S D ud ool Lo IEW DO W8 65 (Dhdg wod(Brod®
@335§0m V0 0% &3 &sodoo Do“‘béao

(4) Srorgs D od) (D] end(Eeds® (HBgEom 0 o &N $ohoo JoTyen

125. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India

(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)
E Do 0f TrE e ©BE &6 (IPAB) vy (95780 B3 )H Tood 2TRADES
20830J) 08%9 (GIR) el 0P wrd 8 DAfgodH 2Wr(HED 208THS
%008 Bn(EI BH08. G IS ESTFoST T o908 H0D08H

od >ESt D& Jdzo

(a) &8 A TP P9 ©) Fordd Hoawrd [@rodod® o)

(b) & Ao orEr9en WITOWRre Fore Tod o)

(c) &8 Dcbo T° 9 ©d r3ET oS c%e_ﬁ;d—éﬁ?éésoeﬁ’s Lol

(d) & 2% ooarger S8m PrESTIoS® Lol

(1) (a) $m& 2) (b) g (3) (a) 805 (d) (4) (a) $:60%0 ()
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126. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) East India Bank

RE 27508 ©d 208G HrEgD) D

(1) 08 ergof ©p rodIsr (2) =w0%00%S wrgof ¥ aoddsr
(3) &S wrgof uh aodasr (4) &9 m0&05r ergol

127. NITI Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &Trh HID SrdHod

(1) SIS adyBergd $8 BEES asIRHAS
(2) SEIS assH (S @ 10dJdrgSd)

(3) LSS adyBergd $8 (&rS)F0308 @aoddsr
(4) JH3S 2000BI) B9woh aV)Bworgd

128. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
S (0PI S0 (Sod >8S° TI8 Ho 050D
(1) wdHo 0T (2) DoFHe 0T
(3) (o FoHEgo (4) (e DSghESe

129. Which of the States is not BIMARU State ?
(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bo& o8s® BIMARU orh90 5208
(1) H5%8 (2) Dogg (535 (3) ¥ B BorrSs  (4) U"agg“S
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130. Who has won the 2016 William E. Colby Award for best military book ? What is the title

of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

CESIJERS Ldobd (fogodH 2523?3 VOS50 3 §6F ward 2016 HoIENTHNIEH IH08
©HoV0od? © DHVEo DT M.

(1) 30& Sred — & 36 Lrgod : & BED BAD @ woddsr RS
(2) S*A*S B35y — 6 @) Bod)
3) &aed Eér?ggoﬁoSs — @ g EI"LK%J s & 96 oh & «6RS
(4) HS BTy — Q) wo& Tsyez as Mowd
131. ‘Jorwe’ culture belongs to
(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) TIronage
TG D00y )8 & e0dH Toodd
(1) e (do3e> dSwido (2) Yy ERer Bwdo
(3) Hogg o°® dSwio (4) a%0bs*s cswio
132. Match the following

List-I List-IT
(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (iii)) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
& 1808 T wBDHLHWoH0

eI eI
(a) &°6 (i) e
(b) ®ohod (i) Hozoé
(c) D% &y (i) Hogg (535
(d) dorom 36 oo (iv) &d8 (935

@ O © @
M O G 3> (@Gv)
2 @ Gv) @) (i)
() @i @) (Gv) ()
(4 Gv) @) G) (@)
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133. Which of the following statements is not correct about the Rigveda ?

(1) Rigveda mentions Varna

(2) Slavery was not mentioned in Rigveda

(3) Sabha the assembly was mentioned in Rigveda

(4) Rajan occurs many times in Rigveda

ETEH0BE B0 050D & (80d TIS® Q (HBFEH Sdpr wEYD &od :

(1) "B’ 00D SHTgEH» 08600

(2) w0 EgDH0’ $00D GHTNIBDHN W8 Y I T

(3) "0 #00D STgEH0 000

(4) ‘el ol HSHud HTgEHe Tor Horgdhdnes D808

134. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion

(3) Tiger (4) Rhino

SeSSAle TNk oo yBD DD Lw|& DS D o) BP0y BEY BB 2

(1) Qbaka
(3) D&

(2) Dol
(4) gS0yHd0

135. Match the following
List-I
(a) Kosala
(b) Licchavi
(c) Vatsa
(d) Matsya
St (8080 &P 2EDHBTL0
eI
(a) §%eo
(b) OHH
(c) )
(d) So&yg
@@ b (© (@
() @Gv) (@) () (i)
(2) i) @) Gv) @
3 ® @) G (1)
4 @) @Gv) @ (i)

List-11
(i) Vaishali
(i) Kausambi
(ii1) Viratanagara
(iv) Sravasti

Rt | |
(1) IO
(1) 8§°=z~0®
(111) Do Hw
(iv) (TS5

136. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha

(b) Kundalavana

(c) Pataliputra (d) Vaishali

& (808 ang & T°¢ oo HITBIIWes 2B (HTFIweL (EHo Dopgds® (FahoHw.

(a) occamdyse
(1) (), (b), (c), (d)
(3) (), (c), (b), (a)

(b) Hodwddo

©) edy¥ d) 37
(2) (b), (@), (c), (d)
4) (a), (d), (c), (b)
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137. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.
(1) Svami, amatya, janapada, durga, kosha, danda and dharma
(2) Svami, janapada, durga, kosha, danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra
©8TH90 (H5EL0 Trego’ O wolinod” Erd sotod. & (30d FIS° QB HOTHOH
(1) Srged, odrds, BdDd, d, §%%, Socs Hadosw 15}
(2) g, 3D, S, §%%, o Mg PO I (&
(3) g, vdrdg, wIDS, oY, §%%, S0 L0005 (&
(4) g, wdrdg, s, $Y, §%%, o Loddsn (&

138. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai
& (808 a70S° @ (fogo B¢ (o BOST HOHeBoS &b,
(1) &8585 (2) 3FHH&s*o () SwdBrE (4) S8

139. Identify the wrong pair

(1) Aryabhatta — Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsamhita

(4) Bhaskara — Panchasiddantika
S8 (800 #AS° B HVOTHD 2S5

(1) esgafeo — @652;56050

(2) ( Dryoydd — Zodseesgd

(3) SET TGI8 — ) EvoT
(4) =08k — Xaod?oc@?’o@§

140. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 ngéooené% D& $03TH08 570

(1) wordg armrdodods HoTPATd TG LEBNI0E HrFgdE Da od 70 (DEarHND
JPRVO W ' '

2) @@oﬁo P le oY SIPNORSLTov s ﬁ‘%ﬁé&éé&a;ﬁocﬁa [essatetite] ?oc@roé JPo(varadokn ?%305263
3) @65 82@&3 H0d 3w o%ﬁ@"é)éocéa ISR SATON DAY 23"’%32533@5’33 Eﬁrqﬁgc‘bﬁ ?o%?’oé O[T
oD WIE ’ i

(4) 708 THk 0w 50@5%9 D0G805°d ﬁ“gﬁéaééweﬁ‘b e wed ?og’oé el aTaplouvbvovben
VlwoNoVI*H ’ ’
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141. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT THI B 0 BOpHBY 3 erd H8?

(1) eroys (2) wgrsdsS 9O

(3) o6 OS Hs (4) %8 > B8

142. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15™
centuries brought deep changes in the political and religious fabric.

Reason (R) : glhey came to justify Khilji and early Tughlaq invasions of the Deccan
ateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BBFES (A) @ 14 H0050 15 dfor_dwod® a8 rddTe drep o $8)S

(POE D05 E IS0 860, &3 @“’oé oc280% Ko DR oldneds
8L drdoyed HoFDo DT ow.

¥edn (R) @1 85 @éaﬁ?c‘l}) 8 é)@)@a $0T50 EO &iff Sodair(Fodo Fgok go
TS0eE wrd FdHor & (Foseds éi)z)mcﬁo

Ddrgedo

(1) (A) £08050 (R) dzo (R), (A) £ 50000 D8

(2) (A) £00 (R) Bodr Jzo 59 (R), (A) & HBTHD IHTe 5265

(3) (A) Q=0 572 (R) 8Dy

4) (A) 5y 59 (R) d=zo

143. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
PSS (A) Eéocﬁgo ([Eri@) $9005» @H5Tob &@ SHSoes® SISy %55 5)@
Q0 HoBIo.

s80dn (R) 1 oo %65 5)@ (Do Wog) I8 H0BN HE (DITLINI 259(5
30539&33 L@oﬁo@;oﬁzéo
DArgrdo

(1) (A) 8050 (R) dzo (A) £ (R) 000305 958

(2) (A) 00050 (R) o 520 (A) & (R) 200308 Qd8er 5260
(3) (A) dzo 5 (R) vy

(4) (A) 5y 570 (R) dzo
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144.

Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is
almost similar to

(1) Poligar System of Vijayanagaras

(2) Igta System of Delhi Sultanate

(3) Jagir System of Mughals

(4) Izara System of Mughals

Frivod oo IV, vdgh¥omr oo rES TOE D) Hdren TV ©HFEIn AW TS
TPR0A AR’ Q) Agrddndd FPO od.

(1) D20%ddd ocwre seod ‘FBmyd Hg99
(2) @9 oo svodrd ‘@5 Agrddwn ‘
(3) Bwdwo soomd erhb HgdD’
(4) Do scooT e RO DF°I 0D

145.

The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills
in 1919

(1) Tej Bahadur Sapru (2) B.D. Sukul

(3) M.R. Jayakar (4) GS. Kaparde

1919 “cooaéégéoé% Toé Do és@ﬁéow’ BRrow FTHI00EO Hod ol WD
rSBon Bebsth JHE?

(1) 8 & &8 J&r (2) B.D. %056
(3) M.R. 205886 (4) GS. 553
146. The following states share border with Uttar Pradesh
(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is
(1) (), (b), (c) and (d) (2) (b),(c)and (d)
(3) (a)and(d) (4) (a)and (c)
(Bod TIS* S88 (HTFE JO0TE Ko Targed D 2
(a) boerd (b) oS (c) $&2%8 (d) ego&
D3 ddrgedo
(10)_ (a), (b), (c) H20605» (d) (2) (b), (c) L0030 (d)
(3) (a) S0805» (d) (4) (a) L0005 (c)
147. The state having largest area of forest cover in India is
(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PEETH0S® dshE DuPo wEHw Ho TR0
(1) $ogg (93B3 (2) oo
(3) wSmrIS (HTF (4) Sovgs
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148. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
23 B D B080d0
eI eI
(T°F9o0) (S0 Gowd)
(a) SFoedo (i) $o550°%9, o0&, 2@y, wo(§ (TF
(b) (@D (i) rE8S, Hogg (535, edry ok ?%’&5, e omgd B0 50 O"’&Q"’S
(c) Hoerd (ili) omdF, wegto

(d) S8worre (iv) B8¢ %0052 Sor 0¥
The correct answer is
DB DIrgrd S0
(a) (b) () (d)
(H av)y i) (1) (1)
2 O (i) i) (1)
(3) (v) (i) (1) (i1)
(CORNC) (i)  (@v) (i)

149. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
8o (DIWSDdweo < doydw
(a) &% Hodo wdH oEHrS 0w I8 LHHes® EJyFrow
(b) Sgrsron vdHos 8708 Sodes 00w S'er HHrE HEFrd (Frogod® EJyIon
() 8o yrdETHo H0WH W HreddH (Fosred® DEY (Fod wdp)©rT)on
(d) oo 8D wdHor Hgg rEETFoS® soyon
Which of the above is wrong answer ?
= 6)5125262693@6*’ Q8 EDy
1) @ ) (b) 3) © “4) (@
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150. Assertion (A) : A rapid growth in population has been recorded in census since 1921.

Reason (R) : India’s death rates declined gradually since 1921.

Correct answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BBFER (A) @ 1921 morye BE) o wESH 508 grESTI0S 08 FHood wIYe
5)8 $IrB6.
8w (R) @ 1921 Sod&y8o Soard 83T F0S® Hodero Téw (EHoom EH08.

DTS Ddrerddw
(1) (A) 20050 (R) @ Tod dzzo o850 (A) 8 (R) 00305 58

(2) (A) 0050 (R) @0 Bodor dz20 5220 (A) § (R) D000 Jdden 5°¢h
(3) (A) d=o (R) &2y
(4) (A) 85y (R) dzo

151. Which of the following regions is first affected by the south-west monsoon ?
(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar
S0 2HDITL TEH d STY/([@PoT°d) T T 00 ?
(1) 38¢ 8o (2) 8*8H0sd &80
(3) WSS (HBF (4) 5538
152. Assertion (A) : West flowing rivers of peninsular India have no deltas.

Reason (R) : These rivers do not carry any alluvial sediments.

Correct answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BBFSX (A) @ gdd B3hEe)od® DEHE FYP (HIW 0T o Tgreo TR,
8ndn (R) @ & 3o Jurod 2o odFarod IrosED.
VTS VIrEeIdw

(1) (A) %0050 (R) Bods dezo 20050 (A) 8 (R) 000308 DS

(2) (A) 00050 (R) Tod dzo 520 (A) 8 (R) H0030S D8 5°¢h

(3) (A) =0 52 (R) &by

4) (A) 5y 529 (R) Qo
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153. Match the following

List-1 List-11
(a) Banihal pass (1) Jammu & Kashmir
(b) Rohtang pass (i1) Himachal Pradesh
(c) Niti pass (ii1) Uttarakhand
(d) Nathu La pass (iv) Sikkim
& 1808 T 2BDHHEH0
eI rde-I1
(a) JdTS D () =0y & 9%&5
(b) &G B0h D (i) oSS (HTF
(c) & > (iii) sSorpol
(d) 3o 0 (iv) 280

Correct answer 1is
DTS DRrerdo

@ (b)) (© @
(1) @v) (@) () @)
2 @ ) @) (1v)
) Gv) @) @) (i)
4 O @) (>Gv) (i)

154. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.

¢ The ports provide access to the raw materials available in the hinterlands of
these ports as well as to the world markets.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

BOFSS (A) P ESTH0S* D §°SETr, HooBon 0D BI) & THoH wwH &dy
FHE [Frozrod® @°8@°§b§ @°o®°e>o e ©DH)HToTon.

& 48 THo S FPRE (Fozrod® 0DoT Hnd HEHod Fodw s
0050 (Do HrT)fod VI8 wdHm sooyow.
(I) (A) 0050 (R) @0 Tod dezo o850 (A) 8 (R) 00305 58

(2) (A) H00050 (R) @0 Bodr dzo 520 (A) 8 (R) D000 e s°¢h
(3) (A) dzo0 572 (R) 8Dy
(4) (A) 85y 520 (R) dzo

Reason (R)

=eb (R)
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155. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1)) Odisha
(c) Lead-zinc (ii1) Rajasthan
(d) Asbestos (iv) Telangana
2B D IoWodw
eI Al B |
(a) HroXddo (i) Sy (HTF
(b) 385 (i) 28
(c) 2%d0-2o0§ (iii) oree
(d) o2 HTD (iv) Boome

@ b  (© @
(@ @y G (1)
(2) (@v) i) (i) )
3 @ (i) (i) - (iv)
@  Gvy G @) @)

156.

Which one of the following is/are primary economic activity/activities ?

157.

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is

(1) (c)and (d) (2) (b), (c) and (d)

(3) (b)and (¢) (4) (a)only

Bod TS D& DD (0¥ @gé seEgSorare SESHB8 BVo&od?

(a) Sore (b) E5ogdThP (¢) Hdoo (EH3¥0  (d) Hgd a0
ISHCESERSESapeyel

(1) (c) Ho80%x» (d) (2) (b), (c) $o00%0 (d)

(3) (b) 00052 (¢) (4) (a) dor(8Fo

Which of the following are the chief sources of hard wood timber ?

(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(¢) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is

(1) (a)and(c) (2) (a), (b)and (c)

(3) (a)and (b) (4) (a), (b), (c) and (d)

(Bod adS° T o0& (derdom HE Sod 0hotdn?

(a) V&8 sHoo do DEET0E wdHo

(b) Bher8 sHor fo 9HTTY vdpen

() JEEL0E FyomrsedR) wdHeo

(d) 500 Bod e5°8Y vHHer o 9EHTDB)Y wdHeo

DTS a9

(1) (a) H280%» (c) (2) (a), (b) H008050 (c)

(3) (a) %080%» (b) (4) (a), (b), (c) L0050 (d)
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158.

Consider the following crops

159.

(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?

(1) (a)and(b) (2) (b)and(c)

(3) (a), (b)and (c) (4) (b), (c) and (d)

(Bod Hovodr HOIOoWL®

(a) ©& (b) SSo¥5K (c) Dasogo (d) A*csodoen
D oES* 2 96D Hodveo

(1) (a) $2605» (b) (2) (b) L0005 (c)

(3) (a), (b) L0005 (c) (4) (b), (c) L0030 (d)

Which one of the following shipyards makes warships for Indian Navy ?

(1) Vishakhapatnam shipyard (2) Kochin shipyard

(3) Mazagaon shipyard (4) Paradeep shipyard

8 I seSe08 SO0 Al ITEodo Sa0ird B J°se(F0%0

(1) dapdéen Ise(dds0 (2) 5V Sse(fasoo

(3) Somma Fs°F¥odo (4) LD JIsoFoso

160.

Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?

(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bo& BDIS ) Bieo Bo& rdS (oI ©odire-I5° Sod® BT 82
(1) ©da° (2) S0o0dk (3) Dogd (4) =ooe

161.

Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
(8od ES® 2B DL IS DA ©Fgo 5
(D 6:95555 g (2) S8 A8gEre 3) Fohgo (4) %oox8880%d0

162.

Read the following statements

(a) Infant mortality means the death of a child less than one year of age.

(b) ]Ianlftaﬁlt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(¢) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(1) (a)and (c) (2) (b)and (c) (3) (a)and (b) (4) (a),(b)and (c)
(B0 (HHBLINe FSo%H

(a) % Hderos wdm Dodsdo BrostHor BHK) HdBoNdo

(b) 1000 zdsrod® fooeéébdoeﬁgﬁg) FAT00d Do Dowg wrrdon 3H oo Dopgd
Vg o0 8>

() &oo 8080 &) T B JdwreH s°Emo

D (DB IID00S B/ Je0?

(1) (a) %2605 (c) (2) (b) %9605 (c)
(3) (a) %2005 (b) (4) (a), (b) $2005» (c)
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163.

Match the following
List-1 .
(a) Golden Fibre Revolution
b) Gray Revolution
¢) Pink Revolution
(d) Black Revolution
BEDSBH0
eI
(a) omrd B JHHo
(b) &S Jody QDo
(c) dowrd Joi dDHo
(d) e 9o

1 ((a)) ((b)) © (@
1 111 11 1

O I I S
(3) () (v) (1) (D)
@ (v)  Gi) ) ()

List-1I
(1) Fertilizer
i1) Onion
ii1) Petroleum products
iv) Jute production

eIl
(1) ABoHed
(i1) &Qarcioed
(iii) @@S‘g@oﬁoo ERRESEY
(iv) %o SRR

164.

Match the following
List-I

(a) Zamindari system
(b) Drain of wealth
(c) Mahalwari system
(d) Rythwari system
IR0 TeSERGRNGY)

eI
(a) =oowrd AEedHw
(b) (dardrom S0 VHE0
(c) HobrSad B g8
(d) Begd ® CS 8"

List-11
(i) William Bentinck
i1) Thomas Munro
ii1) Lord Cornwallis
iv) Dadabhai Naoroji

eI
(1) QOS> 23oes
(i) %% K&
(iii) ord 576 30D
(iv) ororeron I°6°e

@ ® © @
(L) (i) (v) (1) (i)
2) (1) (.1'1‘) (1_1_1) (1y)
(3) (v) (@) (i) (D)
4) @) @Gv) @) (1)

165.

Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals

(b) Better public transport facility

(c) Face identification system to catch criminals
Wthh of the above statements is/are correct ?
(1) (a)on

3) (a ancf, (b) only

(Bod (HHSdtwen HORO0WL®
100 w0l Bod Sore’ (BE dopg o mren

(a) Dgosoo HOE (rHE Joo(Ee EOH sodwo

(b) &S00S Léwdmea c%‘°§<5°§®ooc§cbo

(¢) 36@0@260 %003 B $00% HgHHdo £OA wodwo
2 L@Zﬁzﬁééweef D6/ Jzo?

(2) (a), (b)and (c)
(4) (b)and (c) only

(1) (a) Joo(EFo
(3) (a) 20005 (b) Hr (&0

(2) (a), (b) L0005 (c)
(4) (b) L00050 (C) B (EDo




166. Read the following statements
(a) The first hour of every parliament day is reserved for questions
(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(¢) Judicial control over administrative acts stem from natural law
The correct answer is/are
(1) (a)is correct, (b) and (c¢) are wrong
(2) All(a), (b) and (c) are correct
(3) All(a), (b) and (c) are wrong
(4) (a)and (c) are wrong and (b) is correct
(Bod (HHWSLwen WkogHhw

(@) (98 e ;B0 InEE Hobd vHookho (HF)BSIne EELH Bwrowod &od
(b) FEPoowd Fo(hTrdirod® ST Jogn wdh e Yrdg doo’ (28" ©58)
(€) 5°8gRBZTE FEgoD D°gasy Aoko(den Ve I°gaio B0d VNI

DB DIrgrd b0

(1) (a) dzo 522 (b) H20605» (¢) @0 SHY

(2) (a), (b) L0605 (c) @ @Ebl de20

(3) (a), (b) $06030 (c) oo @fb‘l ED Yy

(4) (a) H203B» (c) @ By H0as» (b) J=o

167. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(¢) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)
8E o000 §°F ‘Tgoh DabE 9650y EON $0d. T°g0%H Haby el

(a) orqy Q:'_mé’sée) @603@260 HNg ot Eo

(b) $90(8%008O oo b owEo

(€) 2788 or9na8 Dot adgdo

(d) =03 79 ©BrOoVd WEre, 5°EGIT°ZTE T VT orezgo %5@:63 Vg onooe
DTS DI Eedd0

(1) (a) $080%0 (b) (2) (b) %2005 (c) (3) (d) S-S (4) (c) H0005» (d)
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168.

Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case : Rights of Minorities

(Bod &S® $TH 2d 2672

(@) 2.8.08. = SHE o2 g H0 S B ISNTe 536?3@ DHOVD DK 0S® ;Y To¥y e
(b) dagp g © So8 o°R9 Do ogren

(c) ®obo> DI Fregdoo DB (HTH0S® LowrFo ToEHy oo

(d) go°6 voh aregdo : @m@é?e: [SEESPROY

Correct answer is
$BS Ddrrddm
1 (@ (2) (b) (3) (© @ @

169.

Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and (c) (3) (a)and(c) (4) (a), (b)and (c)
(Bod (DDWIL0nen H03000d0

(a) Bose &% RErgS Horod Hoasn wdrgd SHo EH S 1992 boééodéw@%
bO“"Dé)J Dok &od

(b) 65% crergod VI8 argor I 278 050 NErgd Hore HHBN NErgd Sdo
NS doeyeo Bk God

(€) @05 ndrgd Hore HHOMB WNErgS Bho ENVS BNEE B[S 1. WS,

fm:éoéooéﬁacb
23 B Lﬁaézﬁéé\w@@% IR DT
(1) (a) $060%0 (b) (2) (b) H00030 (¢)
(3) (a) 06050 (c) (4) (a), (b) 006050 ()
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170. Consider the following statements

Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and(c) (3) (c)only (4) (a)and (d)

(Bod (DDWIL0en H080 0% %

‘@08 356" (95780 o8 090" wEedDY H8HED 2.8 HoDHENSH0 QoD Ao 0T

(a) & 09908 B(HFod H0P BT © QY “r8°6 DgroouH B

(b) T‘%jo@% T°08 P BFon @HPHS® TH 15816 AgrdoIB Tl

(c) e U%gjoé* e:ﬁooéfg AV oo g oWdo §§3125320. AV Eo Dopoo &)g‘@oiﬁéﬁ@éa

(d) D30 HOFES Trgo BoE™D, 7R 90S° B(HDVOJ e FTII &I 00 T°H 908
Bodyh BoSSBL |

D (DB EB0008° B/ Jzo?

(1) (a) & (2) (b) $02060% (c)
(3) (c) & (4) (a) £00050 (d)
171. Read the following

Afnﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) Ifhe has voluntarily given up his membership of such political party.

(c) Ifhevotes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (a), (b) and (c) (4) (a)only

(Bod (HHWILwen WhogHhw

0.8 oo @°§§ VOB T30S Dghgdo (S0b é@?géo@eﬁ E3 F03 VYPgEgAs @ik
@K,

(@) 83 F§ $0& WHPERE DHTID b

(b) &5 3o dg¥yodon HBO DEIDH B

(€) 8% 3§ =dT2S DD H38TFomr 03 HYS® Lwo IO Sor Bgald

®00ID P&
D (D3TIB005 DB/ID Jxo?
(1) (a) $08050 (b) (2) (b) 2006050 (c)
(3) (a), (b) L0605 (c) (4) (a) S-(Eo
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172.

Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BaFSH (A) : THoS® &8S® do o orR9 VOIS oI Eﬁ?éa W50 FPI0EH
e do.

Eede (R) @1 0og9 0ol T Head Bdeo orag DFS'T (DT DLHTL.

Ddrprdo
(1) (A) $805» (R) @ Tod dzo H500050 (A) 8 (R) 00000 d58e

(2) (A) H00050 (R) @ Bodoe dezo 50 (A) 8 (R) 000300 Qd8e0 506
(3) (A) Q=0 (R) g5y
(4) (A) 85y (R) d=o0

173.

Read the following

(a) The provision of All India Services are explicitly stated in the Constitution of India.

(b) The provision of National Development Council is not stated in the Constitution of India.
(c) Stamp Duty is levied by the Union, but collected and appropriated by the States.

The correct answer is

(1) (a) and (c) are correct but (b) is wrong

(2) (a), (b) and (c) are correct

(3) (a) and (c) are wrong but (b) is correct

(4) (a) and (b) are correct but (c) is wrong

808 (Do $hkbn

() ®do rdd HOge J oFden i wwgoﬁo@"" dyhom D& TG

(b) w@oﬁré}éac@% 080 (HFDS g8 orargofod® B

(€) FoD drgéd To(Bo DEVI08, Treryer TE HDred FHED DIT/rA0BE $Soy
DTBL wae 0

(1) (a) 20052 (¢) d=o 57 (b) SBy

(2) (a), (b) H00030 () @0 Jeo

(3) (a) $205» (c) @0 By 570 (b) ady

(4) (a) 20052 (b) @ 2By 570 (¢) Dy

174.

Conventional energy source is

(a) Solarenergy (b) Wind power (c) Bio-gas (d) Nuclear power
O(DTPAN R0ED DIBH esrdaw

(a) drsg 38 (b) 255 48 () Br-mrgd (d) we %8

(D (a) (2) (b) 3) (© @ (d
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175. Who among the following Presidents of India was associated with the Trade Union Movement in
India ?
(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
8 T%jééj@@’s s*’égé &égéf@@f’ D0 00 Eoad
(1) 2.2.nd (2) AS. BokS TS
(3) D& T3S (4) 8. ToELorHoS
176. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.

(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning

(3) Digambar Rao Bindu — Home

(4) Shanker Dev — Education and Village Development

1952 &° bég&:é o TrE)aroe)) 0o@ HPH0IKH Do 0HoW BB 5V @ INIaYs
(1) w0 o€ woh — (D8 iigdm, (Derddoen

(2) Qo. BI)TE — HgHI o 0w (De®E

(3) &do Borh Do — wodIohs Hgddtoren

(4) 4086 TE — Dy $200%0 (e SIARNA

177. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted

that “Culturally Vishalandra was already a reality”.
(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 &8 Hrddnd® 200 B grar DWA DHrTTIT g Hwodr ol y8%om
DT wf rddm ad 8T HerFod.” @d FgergdoNod.

(1) §ow Bogd Somr TG (2) oo orHEyarorD
(3) Srdard Hrlodoodord) (4) Hooddwe JS8yororD
178. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?
(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji
(3) S.Nagappa (4) K. Rajamallu

1963 &° D878 HodsTE (Hebdesnds $g8TRLT “wold (HIHBgin. Tho (Hehdgim,
Tho 5% £H0okn TEow e FgargoV0s

(1) &8.9:. focs"@é& (2) Sow oF e wrpd

(3) 2. FADY (4) 3. cedow
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179.

Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to

(1) Backwardness (2) Development

(3) Disintegration (4) Internal colonisation

ar9o HI6 DPed EWRS Lot Te 00 TohHE Tew 2D HEPchIEw (HSPEH
“%92‘})263(250&26 so($orol (FoB08 THE ¢ (oSDX JEoers orhgdnn ORI
©d @wodHomr SI8 od BoswdD rdowd.”

(1) Jdogerdw S350 2) SN
(3) VY08 (4) ©o088g H00H
180. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

&3 (80O (HILII00S® DO HTHO 5760 ?

(1) DG Hodotwe 2dyoddn (Hsddn FRhgHes® =dHes’Th Jorisod) aoyr
(PEHOET wdoiozrom.

(2) 2.4. 0. 610 L &S Tod 0PR 908 G Bogo IENENSS 28t EI0) TEI LD
D088 Boomrn (DuoBH 2dHfEd) wrgainnoldd a0 Q& H.

(3) & B0 2BdyodBH (HSCEBH T°RY 95886’5_6’5 8l (Froerod ©o(F-8wonres
(Froere 208 $0(@ DEHoo 50 : 50 L YES® sord.

(4) 1953 &° gr8d (Dehdgsm w0 Pad ©d TLHdgos® crhdwe PIE Iy
EDH SHo DS%0V0s.

181.

Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
e H(BE Booth (HB8 DD JBLET &odkd?

(1) Srooce §THE oo (2) =486 Somadogen
(3) THOBO crdrdoeod) (4) ©3d wrdove
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182. Match the following

List-1 List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1)) Munir Jamal
(¢) Tenugu Vani (iii) P. Janardan Reddy
(d) Telugu Gadda (iv) S. Satyanarayana
& 1808 I wBDHBHWoDH0

a1 eIl
(a) ©&& (i) Hr0é SSrsrodord)
(b) B Svomre (i) $0J8 =drsS
(c) 8dorfo o3 (iii) ®. =S TG
(d) SBeods e (iv) 9%, dggroradoem

@@ (b (© (@
(D @Gy @Gv) @) (1)
2 Gy (@) (@Gv) (i)
() @Gy @) @Gv) (1)
(4 @) G) @@ (1)

183. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission

STel cootozrésazéaaé% grifonr 005w (000w wrgod JrdledH whnomnr wdyd wo(d
@3% orR9 (wghdgo orhg Qdaswﬁgé S Horedd DoPenr JFBOWOH.

(1) &&38, DEHo H0d5» Jory=mo

(2) &Ey8, DIHor 2080w Do

(3) =o Ags, TForb Dogdy BN IS VSogEy
(4) DoRed, dorywo HHosH Do

184. Which one of the following statements is not correct regarding 1969 Telangana movement ?
(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta
1969 Soomren wdgndnd® Do 0how & (Sod @)éiﬁéﬁéaae:é% NI DOODIL 5°¢h

(1) S8woores Loaaa@o el (D050E PR 9dN® PRIl (DI oI ¢ AB. arEarow.

(2) SBoormre (Hued L@o@oﬁo 05030 AGPOE (DB S0T X (DB, EId ©0oHEDoWE:
C.C. TBarow.

(3) FEBoens® Boomnn (HFIH0(E O (HELIL B H0od Svormrn (HerHdad)
05 %r0 %0 cooLoa&oa"@ K. 585 8S.

4) LoDG"ESEéJOL@ Boomn wdgHoHnI 8 oces 8050 DO E 0D s’zéoé’szréeoﬁooc‘éo
K.L. iz
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185. Match the following

List-1 List-11
(a) Porakala Dora (i) Shanigaram Venkateshwarlu
(b) Whiteman (i) Dasari Laxmikantham
(c) Sahu (iii) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
Ss (8080 A wEDHSTLD
a1 s —I1
(a) g0 &Y (1) 4dd80 Soéér‘ésgo
(b) Eﬁérg% (i1) oo @ég?oéo
(c) oo (i) dwory¥ ©F 6 oD
(d) Koo (iv) Q80T o BdoH

@@ b (© (@
(D @Gy @Gv) @ (i)
2 Gy @ (aGv) (i)
G @O G @) (@)
4) @(v) @) (@) (i)
186. Match the following

List-1 List-1I
(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i1))  Electricity
(¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
& 1808 I wBDHLHWoDH0

Lo | eI
(a) W8S  dBrg o (1) A58 Booen ﬁﬁsgiﬁoe LSFEgdnoa, Podd
(b) Ko grgass Eoe (i) Dogsy 8
(c) 83 orHEyarony) el (i) (Ddg o foofg@o
(d) Qo Hoego el (Iv) &d)& g

@ ® @© @

() @O @) Gv) (1)
(2) @) @) Gv) @
3) ) @ aGv) (i)
4 @) (@Gv) () ()
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187. Match the following

List-1

List-11

(a) Jai Bolo Telangana (i) Shanker
(b) Shadow lines (i) Prem Kumar Aman
(c) Still seeking justice (iii) K. Chandrasheker Rao
(d) Nyayam Kosam Telangana Nirikshana (iv) Osmania University Forum for Telangana
Ss (8080 A wEDHSL0
a1 ede-I1
(a) B &°S° Svormrm (i) $0%8
(b) ar&® B3y (i) (DS %D wHo
(c) RS 28of a2 (iii) 3. So@TwE o
(d) srgosoo §¥%o-Boomrsn 8 (1v) &Ry Q05 0drrdH0 )8 P80 HE Bwomrn
@@ b (© (@
(H @® G Gv) ()
2 O Gy () (1)
3 @O (@Gv) a) (i)
4 ) (@ (av) (i)
188. Match the following
List-1 List-11
(a) V. Prakash (i) Telangana Janasabha
(b) Bhoopathi Krishnamurthy (i) Telangana Mukti Morcha
(c) Muralidhar Deshpande (ii1)) Telangana Mahasabha
(d) Akula Bhumaiah (iv) Telangana Prajasamithi
S8 (8080 & wBDHLHokw
eI erde-11
(a) . (bR (1) Boome d V¥
(b) Frde Eyndrd (i) Boomre d»§ Ird)

(©)
(d)

(1)
2)
)
4)

089586 TFr0d
wHo FPrdoddyg

@ b (© (@
(v) @G () (i)
i) (Gv) i) @)
(i) (v) G ()
(v) (i) (D) (@)

(iil)) Seomre Hotde

(Iv) Soomre (He° Dd
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189. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1
(2)
3)
4)

Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge

Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad

Digvijaya Singh, Veerappa Moily and Ahmed Patel

Digvijaya Singh, Ahmed Patel and P. Chidambaram

©o(§ ($TF o°R9 Fwd orgor G D PoTIg DHvIoD HOAHSE SXWED 8
DO BB Efo drdIen %73?) Qb dn rdd (Dghdgo AK. ®0&°D ©EgESD
ENEY JoWoD0s. & ENGESY Debgeo

S

(1)
)
)
(4)

&hgedd
&AHgeeodd
&hgedd
&hgesddd

wof, w8 DSBS H0050 Ho8grdos 9T
oA, 56&33&3003@ H00 050 Hoerodd werd
voh, ﬁ)dégawooa@ H508 052 @XP&S HES
wofl, @iy 6 DV Hr0dsn Do o

190.

Match the following

(a)
(b)
(c)
(d)

83 (800 8D wSDToodw

(a)
(b)
(c)

List—I
Metpally

Pembarthi

Gadwal

Hyderabad

Qa1

Boé?ﬁ)@
N0 9

ﬁmg@o

(d) rdoerd

(1)
)
)
(4)

(a)
(i1)
(iv)
(1)
(iii)

(b  (©
@ ()
i) (@)
(i) (i)
(iv) (i)

(d)
(iii)
(iii)
(iv)

List—II
(i) Bronze works
(i) Khadi
(ii1) Bangles
(iv) Handloom Sarees

o1l
(1) x8& I
(i) o

(1i1) nrereo

(iv) S5 DS
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191.

The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&&/556 SoKos® Boomen (Frozd8 éw@zy Srdod® gOyow & SEeaen 1980 &0 § Hedo
DHO HEH HS® Gowrow. 5°0 W BT WS 050 D8o(Eerd o JKELWOS® L Edn
®d 1977 &0 § Hrdo DH0 HEH Jr@H wowd® sotron o BOD HELo

(1) o8 dreee dEE0 (2) oh &g vE¥o
(3) odo DE avdyodo (4) DoWdrE HEEo
192. Which one of the statements is not correct ?

(1) Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

(2) Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under

the six point formula and Presidential order.
(3) Kamalanathan and Umapathi Rao were the members in the officers committee.

(4) Abdul Khadar, a senior I.A.S. officer was appointed in 1985 to scruitinize the officers

committee report.
& (800 TEGHNOS® B HOTHID

(1) @08 371 ‘& (95780 wo(§ (DTFS® &°5S YRR DO“’Q@J& ©®000d
& ®
(2) ©8 dor(Ero DEE0 HO0BH TrRIVE &EBge0 wROPIVI e TB00E wo(d
Bkl (Beh&gdn waderds TE E0¢8 19846® Jo5ooDod
(3) EHoTES Ho0dn SIrVBT RO ©wPOEY G S* bebgew
(4) 908y 08 ©0000S ITHEL VORD0WLE 19858° @ of i85 @b DAGE
0.0.00 950 V0%MWoTW W
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193. Match the following

List-1 List-11
(a) My Telugu Roots : Telangana (i) Nalamotu Chakravarthy
State demand — A Bhasmasura wish
(b) Battleground of Telangana (i1) Gautham Pingali
(c) The fall and rise of Telangana (i11) Venugopal
(d) Telangana—United Andhra Illusions (iv) Kingshuk Nag
& 1808 TG wEDHGHWHD
a1 eI
(a) o Sooh §rdy : Boomsn & (i) Jo3rd SES0
B0k~ P8 A&
(b) 2rgd3d (To& ©d Boomrn (1)) Fgo Dod®
(c) & S wob T o Svomres (iii) SeaftarS
(d) Svomrn-d5nIBE ©o(d awIgE) (iv) 80H%05 oA

@ (b (© @
(M Gv) G @O i)
@ O @) @i (@{v)
G) O aGv) (> (i)
4 Gv) () @) ()

194. Arrange the following statements in a chronological order
(a) Declaration of K.Chandrashekar Rao Fast unto death.
(b) Telangana March to Necklace Road.
(¢) Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).
(d) Suspension of Telugu Desham Party from Joint Action Committee.
s (8o 8 (Bdorofeomr @i ok

(@) 3. SoBFWE o) wdodm JSTEERE (DE®D

(b) g 8°& 8 Boomrsm H°6)

(c) (& §Sodoro eronod egs e (JAC) §<‘55265(T° QO5TeHo & Had
(d) 2rowod sES W& 508 Booth THo r§ 08w

(1) (@), (d), (b), (c) (2) (@), (), (b), (d)
(3) (b), (a), (d), (¢) (4) (a), (¢), (d), (b)
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195. Match the following
List-1 List-11
(a) Goreti Venkanna (i) Ayyoniva Nuvu Avvoniva
(b) Nandini Sidha Reddy (i) Amma Telanganama.....
(c) Guda Anjaiah (iii) Palle Kanneeru Pedu Thondhi
(d) Gummadi Vittal Rao (iv) “Nageti Sallalo Na Telangana.....”
& (80D TP wBDHL W0
eI -1l
(a) A*3Te BIEEtShY (I) ©0Wrgd 3003 @SSSDK)
(b) J08Q dg° TS (i) odry SvomrendHry...
(c) #rd wowmdlyg (ili) 8 8918 w&E0d
(d) HoDoyd S oo (iv) “>0e 3"@;5@@5”3 o Boomrm...
@@ b (© (@
(H ® @Gv) () (i)
(2) i) @Gv) @ (1)
3) v) () (@) (i)
4 @Gy G @ (1)
196. Match the following
List-1 List-11
(a) Dimsa (i) Babban Khan
(b) Adrak ke Punje (i1)) Gonds

(c) Perini Dance
(d) Pittala Dora
St (8080 P 2EDHSTL0
eI

(a) oo
(b) » &5 B vo&
() 08 @)
(d) 2bo &Y

@ ® @© @
(I ) @ (@) (@Gv)
2) @ a) () (Gv)
@) @G @ G (1)
(4) (v) (@) (@@ (1)

(iii) Fastest dance form

(iv) Budiga Jangalu

eI

(1) DS R

(i) A*ocboen

(iil) SEL0S8Tod Sysgdw
(iv) o&¥ womreo
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197. Match the following

List-1
(a) Ramlingeshwara Temple
(b) Erakeshwara Temple
(c) Sita Ramaswamy Temple
(d) Venugopalaswamy Temple
& 1808 TG wEHLHWHD

a1
(a) Wéo@o?g-‘ésd E1STovsTe]
(b) 035_55?3’56 $© 030
(c) Do vodio
(d) S FroIgd wooso0

@ O © @
(h Gv) G @) (i)
2) i) @ () (@Gv)
G) Gv) @) @) ()
4 O @) > (@{1v)

List-1T
(i) Dichipalli
(i1) Kondaparthi
(ii1) Pillalamarri
(iv) Nandikandi

de-I1
(i) &00Y
(i1) §°0&kD0
(111) D50
(iv) Sob¥obd

198.

Match the following
List-1

(a) Mannemkonda Jatara
(b) Durajpally Jatara
(¢) Siddulagutta Jatara
(d) Singaraya Jatara
& 1808 TG wSEDHEHWHD

AR |
(a) HoT)o80d =&Y
(b) oD &S
(€) 2oy =Es
(d) oKorcsy erdd

@@ b (© (@
() @) @) @ @G@v)
(2) @) (@Gv) () (1)
(3) @Gv) () () (@)
@ O G (@Gv) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(iil) Anjaneya Swamy

(iv) Lingamanthula Swamy

D11
(1) @ég SISESISR ARSI
(i1) %é%gd@"si}o
(1ii) e—soaﬁoﬁobﬁg&o
(iv) ©orHoodo0g
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199. Match the following

(a)
(b)
(©)
(d)

List-1

9 month of Islamic calendar

Moharram

10th day of 12th month of Islamic calendar

Milad-un-Nabi

&3 (800 T8 2SDNLodn

(a)
(b)
(c)

(d)

(1)
2)
)
(4)

Qa1

Qg § S'°SBOC§5 5";)3%&;5 o

S (S0

ag s ygﬁocés SEATel<2

Sostd HEd 8w
Dord & I

@ ® © @
1) (1) (@av) (i)
@) (@Gv) @G 1)
1) (@v) @) (i)
vy (G (1) (1)

List-11
(i) Prophet Mohmmad’s birthday
(i) Bakrid
(iii)) Ramjan
(iv) Shiyas

erde-I1
(D) 0% 8 (DI wdy8d0
(i) (8&

(iii) Soe5

(iv) 2dsreo

200. Which of the following is not correctly matched ?
Lambadi Hakkula Porata Samithi — Bellaiah Naik

(1)
(2)
3)
(4)

s (808 TS O DOTD @d 5%

Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud

Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao

Chakali Hakkula Porata Samithi — Poosapally Saidulu

(1) ©oerd o Jord V& — Boddg o°aks
(2) 8¢ &2l TH o Ford DN — JoFF dwdhBHdrd 776
(3) 3BE TEHyo Ford DNE — S A I0yoHdorD

4) O r&pe Norw DS —

“Z:c‘i} 080

o




